Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
1	Ý	Window washing services per specifications-requirements for: HARRIS HILL ADMINISTRATION BUILDING. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all windows on all floors on the outside. The price listed shall be the unit price for one (1) full service window washing job, complete	2 EA	EA	EA CITY WIDE BUILDING SERVICES LLC	860.00	1,720.00	
	ALTERNATE					D AND A BUILDING SERVICES INC CLEAN WINDOWS OF NORTH TEXAS	1,576.00	3,152.00
2	Y	Window washing services per specifications-requirements for: CURTIS CULWELL CENTER. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all windows on all levels, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete	2	EA	INC CITY WIDE BUILDING SERVICES LLC	2,088.00	4,176.00	
	ALTERNATE					D AND A BUILDING SERVICES INC CLEAN WINDOWS OF NORTH TEXAS INC	2,100.00	6,930.00
3	Y		Window washing services per specifications-requirements for: HBJ STADIUM PRESS BOX. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all windows on all floors, on the outside. The price listed shall be the unit price for one (1) full service window washing job, complete	2	EA	CITY WIDE BUILDING SERVICES LLC	340.00	680.00
		ALTERNATE			D AND A BUILDING SERVICES INC	350.00	700.00	
						OF NORTH TEXAS	690.00	1,380.00

Ln#	Award (Y/N)	Reason Item Description	Quantity UOM	Supplier	Price	Extended Price
4	Y	Window washing services per specifications-requirements for: WILLIAMS STADIUM PRESS BOX. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all windows on all floors, on the outside. The price listed shall be the unit price for one (1) full service window washing job, complete	2 EA	CITY WIDE BUILDING SERVICES LLC	340.00	680.00
	ALTERNATE			D AND A BUILDING SERVICES INC CLEAN WINDOWS	350.00 690.00	1,380.00
				OF NORTH TEXAS		
5	Y	Window washing services per specifications-requirements for: Other GISD facilities, if applicable state your firm's minimum job order dollar amount. Price shall include all supplies, equipment, tools and transportation needed.	1 EA	CITY WIDE BUILDING SERVICES LLC	70.00	70.00
	ALTERNATE			D AND A BUILDING SERVICES INC	75.00	75.00
				CLEAN WINDOWS OF NORTH TEXAS INC	150.00	150.00
6	Y	Window washing services per specifications-requirements for: Other GISD facilities (price per square foot) Price shall include all supplies, equipment, tools and transportation needed.	1 SF	CITY WIDE BUILDING SERVICES LLC	0.07	0.07
	ALTERNATE	italissolation neoded.		D AND A BUILDING SERVICES INC	0.08	0.08
				CLEAN WINDOWS OF NORTH TEXAS INC	0.10	0.10
7	Y ALTERNATE	Window washing services per specifications-requirements for: Other GISD facilities (price per square foot) 2nd Floor Level Windows. Price shall include all supplies, equipment, tools and transportation needed.	1 SF	CITY WIDE BUILDING SERVICES LLC CLEAN WINDOWS OF NORTH TEXAS	0.12	0.12
				INC D AND A BUILDING SERVICES INC	0.14	0.14

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
8	Y		Window washing services per specifications-requirements for: Other GISD facilities (price per square foot) 3rd Floor Level Windows. Price shall include all supplies, equipment, tools and transportation needed.	1	SF	CITY WIDE BUILDING SERVICES LLC	0.16	0.16
	ALTERNATE					OF NORTH TEXAS INC D AND A BUILDING SERVICES INC	0.20	0.20
9	Y		Window washing services per specifications-requirements for: Other GISD facilities (price per square foot) 4th Floor Level Windows. Price shall include all supplies, equipment, tools and	1	SF	CITY WIDE BUILDING SERVICES LLC	0.20	0.20
	ALTERNATE ALTERNATE		transportation needed.			CLEAN WINDOWS OF NORTH TEXAS INC D AND A BUILDING	0.20	0.28
						SERVICES INC	55	
10		4NS*	Window washing services per specifications-requirements for: NATATORIUM. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all windows on all levels, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete	2	EA	D AND A BUILDING SERVICES INC	700.00	1,400.00
	Y					CITY WIDE BUILDING SERVICES LLC	1,296.00	2,592.00
						CLEAN WINDOWS OF NORTH TEXAS INC	3,065.00	6,130.00
11	Y		Window washing services per specifications-requirements for: SEWELL ELEMENTARY SCHOOL. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all levels of glass, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete.	2	EA	D AND A BUILDING SERVICES INC	350.00	700.00
	ALTERNATE					CLEAN WINDOWS OF NORTH TEXAS INC	990.00	1,980.00
						CITY WIDE BUILDING SERVICES LLC	1,664.00	3,328.00

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
12	Υ		Window washing services per specifications-requirements for: CALDWELL ELEMENTARY SCHOOL. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all levels of glass, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete.	2	EA	CLEAN WINDOWS OF NORTH TEXAS INC	252.00	504.00
	ALTERNATE					D AND A BUILDING SERVICES INC CITY WIDE BUILDING	350.00 1,664.00	3,328.00
13	Y		Window washing services per specifications-requirements for: DAUGHERTY ELEMENTARY SCHOOL. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all levels of glass, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete.	2	EA	SERVICES LLC D AND A BUILDING SERVICES INC	380.00	760.00
	ALTERNATE					CITY WIDE BUILDING SERVICES LLC	1,664.00	3,328.00
						OF NORTH TEXAS	1,945.00	3,890.00
14	Y		Window washing services per specifications-requirements for: KIMBERLIN ACADEMY FOR EXCELLENCE. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all levels of glass, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete.		EA	CLEAN WINDOWS OF NORTH TEXAS INC	934.00	1,868.00
	ALTERNATE					D AND A BUILDING SERVICES INC		2,090.00
						CITY WIDE BUILDING SERVICES LLC	1,664.00	3,328.00

Ln#	Award (Y/N)	Reason	Item Description	Quantity	UOM	Supplier	Price	Extended Price
15	Ý		Window washing services per specifications-requirements for: ABBETT ELEMENTARY SCHOOL. Price shall include all supplies, equipment, tools and transportation needed to fully wash and dry all levels of glass, inside and outside. The price listed shall be the unit price for one (1) full service window washing job, complete.	,	EA	D AND A BUILDING SERVICES INC	350.00	700.00
	ALTERNATE					CLEAN WINDOWS OF NORTH TEXAS INC	990.00	1,980.00
						CITY WIDE BUILDING SERVICES LLC	1,040.00	2,080.00

*4NS - NOT TO SPECIFICATIONS - DID NOT AGREE TO INTERIOR GLASS